HI[Xt HiH{E 2] HE-E A, 2040'H0f 66 =R 2 = FTILE,

SNEZ|MX| Al 2 UK L=
20304 6=HOAM 10tf O| & =5

APl = E[0| 0| K|S

21 HiE 2| =32 ORA = g2 0170 AlZ2l HEiE 2| HZE

(recycling) A& 0| 20403 =R 2 HEZ Z210|2k= 0| LEETE 20304
6= 0| 103 A} 108} O|af SSTHH= Of &40

SNEZ|AMX|= 21D F 2| A BiHE| THEE-AARE AT FHA 210X40]| A O[ZO0|
SICE SNEE|AM X = BiE 2| HZ7|XHBEV)2t 22| 21810| 2 2| =FHPHEY) £Hoj
CH==5 20303 414THCH, 20403 4636THCHZ Of| J3UCE BHEHC| 82 7| FCe2&
ZtZF 345GWh(Z | 7H2EE A]), 3455GWh 2L BYEHZ|M| E0{7t= 85 7t
MUK E 7|[Ec2 o TEE AME f2E 204049 66222 M EICEH
SNEZ|AMK]= K[ 3 72 2040'E O A E R E g7xde = MAHoLt
Ol &Ho M =X| & Ct4 LHEICE

2|5 HiE 2l = 8~103 7tk AH =0 ST E0| S0 HEjH2[Z2 ZFEI0
TZIAF ACHZE 2|0 2l= 2HF HiE 2| AFZE0| SSoHE HEE D =
A=sHoz A4 o= Heln) HEjH2|E F400= #AHHE L2 FLE,
FEof d7|A2 HiE 2|2 LAl M=otz 2 g s MEEgoletn

Ck T AR (reuse)2 HBIH 2| S 7HZ=SH HH X HEE K| (ESS)E EHESH=
ofO| L.

4T 02
~
ojn
o

>'\J

_I

o rj



IGHHAIEFH, £18SD), sk S =L BiE|E| 3AFE H|Z3| H|=2), S 281
S F7[A ZAZE HEIEZ| AT ZUS 2 LHS| FIOSUCE HiE 2|
HAY 7t4 2502 Q19 |7t Q14E 2o{otn, 24 Tt 27| SHMCt
Crat HiE 2|0 M JRTHE FESH= AlTHS S8 7HE 3~4A17H0lIA] 208
Ol Z £0|1 2|88 £0dt= A2 IHH|Z EolCh HA| AR = T 7 [A
AZE 27t =8 HEHL| MUe ArAA HE Zi0]2tH HiEatrh =0
U7 SHLE OFE HO§ ZAP7L Gl T MH £AE Sot 7| 2R 7t



